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Q 26. OR

(i) Propanal and propanone can be distinguished by the following tests.

(a) Tollen’s test

Propanal is an aldehyde. Thus, it reduces Tollen’s reagent. But, propanone being a

ketone does not reduce Tollen’s reagent.
.’v .
CHCHL IO - zE\gtNlI;)_zl +30OH —— CIGCILEO0 + Agl + 4ANHy + 2H,0

Propanal Tollen's reayent Propaniate on Silver mirror

OR

(b) Iodoform test:

Aldehydes and ketones having at least one methyl group linked to the carbonyl carbon
atom respond to iodoform test. They are oxidized by sodium hypoiodite (NaOI) to give
iodoforms. Propanone being a methyl ketone responds to this test, but propanal does not.

CH;COCH; + 3 NaOl ——# CH;COO0Na — (HI; + 2 NaOH

Propanene Sadium acstate  lodoform
{yellow ppt)
(i) Ethanol and ethanoic acid O
The chemical test to distinguish between Ethanoic acid and Ethanol:

nate test (NaHCOg):
: jonate test, Sodium bicarbonate is added to the sample of
acid. After some time Sadium bicarbonate reacts with the acid sample

acetate) (Carbon (Water)
dioxide)

(¥ scanned with OKEN Scanner



NaNO; = HCI [ HsCHy — N3O |

(U nstalsle)

C{,HsCl‘lz —— NH: e I‘[NO:
Benzylamme

H.0

Not o+ CHsCH. — OH + HCI
Benzyl alcohol

On the other hand, aniline reacts with HNOz at a low temperature to form stable

diazonium salt. Thus, nitrogen gas is not evolved.

C HNH, —S30, ¢ N, €1+ NaCl+ 2H0

2V5-278K
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28 (b) A primary cell is a kind of electrochemical battery which cannot be recharged and the
chemicals are to be replaced it regularly.
E.g.- Dry cell

Q. 29.

X is an alkene

Y is an aldehyde with ~CHa group Z. is a methyl ketone

CH:CHO + [Ag(NHa)2]*+ OH°  ———» CH3COO- + Ag + NHz + H20
CH3COCHs + NaOH + |2 T CHIs + CHaCOONa

X : CH(CH3)=C(CHs) Y : CHsCHO Z :0=C(CHs)z (1.5=1/2 each)
CHsCOCHSs + CHsCHO

l Ba(OH)2
(CH3)2C{OH)CH2COCH3 + CH3CH(OH)CH2CHO  + (CHa)2C(OH)CH2CHO
+ CH3CH(OH)CHzCOCHa

heat
(CH3)2C=CHCOCH3 + CHsCH=CHCHO + (CH3):C=CHCHO
+ CH3CH=CHCOCHs (2.5 = 1/2 mark for each product, % for the reaction) t

30(a) The dipole moment of chlorobenzene is lower than that of cyclohexyl chloride

Ans.: The dipole moment of chloro-benzene is less than cyclo hexyl chloride
as in chloro benzene C-Cl bond is sp2 hybridised where as in cyclohexyl chloride
the C - C | bond is Sp3 Hybridised . As sp2 has more s character and more
electronegative than sp3.

b) Alkyl halides though polar are immiscible with water.

Ans. : The new force of attraction between the alkyl halides and water
molecules is weaker than the alkyl halide-alkyl halide and water-water forces of
attraction. Hence, alkyl halides (though polar) are immiscible with water.
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¢) Grignard reagent should be prepared under anhydrous conditic

Ans. : Grignard reagents (

R - Mg - X) are readily decomposed by water to
produce

alkanes. That is why they should be pre
conditions.

(d) SOCI2, is preferred for the preparation of haloalkanes from alcohol ?
Ans. : The thionyl

chloride or phosphorous

pared under anhydrous

chloride method s preferred  over hydrogen
chloride method for the

haloalkanes becayse both the by-products (SO, and HCI) in thi
and escape leaving behind pure chloroalkane.

(€) Aryl halides are extremely less reactive towards nucleophilic substitution
reaction ?

preparation of

S Ccase are gases

Ans. : Aryl halides are less reactive towards nucleophilic substitution

reaction as compared to alkyl halides is because of resonance stabilization in

aryl halide. Due to résonance, C-X bond becomes shorter and stronger and
cannot be easily replaced by nucleophiles.

(f) A racemic mixture is optically inactive , why ?

Ans A racemic mixture is optically inactive due to the external

compensation of equal percentage of (+) and (-)

forms. The cis form exists in
three - diastereomers.

For Question No. 29/0R/ answer Please contact

9864089106
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